Grade 4 Worksheet Name:

3 1 1
Z.EOfIO— 6.;01‘21- 10.20f36-
3 1 2
3'Z°f20- 7'§°f30_ 11.§of12-
2
4 — of 36 = 8.—of 16 = 12'E°f40:
5
1.— of 24 = 5gof12= 9.—of 32 =
1 1 3
2.1—001‘40- 6.§of30= lO.Zof4-
3.2 of 36 = 7§of45= 11.2 of 6 =
1 3 1
4.50f60- 8.Eof20: 12.301‘36-
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Grade 4 Worksheet
Answers

Name:

1 3 4
1= of30:6 5 20f32:-24 9 2 of35=28
5 4 5
3 1 1
Z.EOfIO—é 6.;01‘21-3 10.201‘36-9
3 1 2
3.—0f20=15 7.—of 30=6 11.—0of 12=9
4 5 3
1 2
41of36:-2 8. of 16 = 4 12.% of 40 = 16
5
1.~ of 24 = 3 5.20f 12210 9.~ of 32:4
2. = 0f40=4  6.20f30-10  10.>of4=3
100 = .30 = .40 =
3 2
3.2 of 36 = 27 7%01‘45:9 11.% of 6= 4

1 1
4.Eof60:12 8.—of 20=12 12.gof36=6
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